i i i fapart 7
Eyferfir 7 & FRER EWIT qrorfifer deheTTereT 7 fmrm ?Srqfﬁ
() SR G heory of political
Who among the I.“”ﬂ“"i"g PT“PlMI!IdCd the FSﬂplil"gn TI'tenr)'
(C) Charaka

rationality ?

Tulsidas

(A) (B) Manu
yo, LYY % I W Y Fr Ry AR 0 .
(A) T wes (B) e & (c) e el

What is the Uttar Pradesh Upper House known a
(A) Vidhan Maha] (B) Vidhan Sabha

fraferfiad & & #-ar sem sien semm (@

s%) |
()(c) Vidhan Mandali

30.

(D) o1& e wfbe # forms g vt 1 aveer o AETA o T T ST @ |

(A) It is the effect of gravitational waves on subatomic particles.
(B)

influences the state of another, regardless of the distance between them.
(<)

of light.
(D) Itis the process by which particles are heat@o extremely high temperatures.

(D) Vidhan Parishad

l}
Which of the following statement best desecribes the concept of quantum entanglement ?

It is a phenomenon where particles remain connected such that the state of one particle instant,

(DY Fieed
(D) Kautilya

() Ferure RS

Wﬁﬁaﬁmmﬁmg?

(A)  TE JTRHTOT Fit g7 e Fiit 1 SyarElT ZEL 0T T Iy 5
(B) & U Ueft vz & Ry =507 30 W U ﬂﬁgﬁ%%@m# -@;

T I et 2, e 3 ot Pt o QT A e |
(C) 5 Bgifas g & <t e i i 3 e R G A 01T 6 e bl ol

@

It is the theoretical framework explaining llafjbchaviour of particles at speeds approaching the spezi

3. T o SR AT (VAT) 5 o oAy o
In which year was VAT introduced at the State Ie@ n India ? =
(&)= 2006 (B) 2001 a8 (C) 2005 (D) 2000
32. Wnﬁaﬂqﬁwwﬁuﬁ%ﬁﬁﬁmﬂﬁ@ﬁmqﬁa?
5 o= &% (B) »silisht 40,
) dMHA 4
Which of the following Iz : : @{D) <
L .L_n_j“ owing languages is not included in the Eighth Schedule of the Indian Constitution ?
(A) | 1i :
. (C) Tamil (B) English o it
' 2 x (D) Sanskrit
33. (WM ﬁiﬁmﬁwa@ﬁ:ﬁamﬁmﬁﬁaﬁm%? i
©) Fodar smin (1) (B)* Fater sy
S . ;
Mmc:e_szm of the Indian Constirution deals wigh (7)(D) HH I F7 3777y
r’C'J Finance Commission b
4 ) mfi:ack'v:xard Classes Commissjon Eg) Ele_(!tion Commission
= ;’WIT EFife (ST Tfermy) oy 2 odf ) Union Public Service Commission 42.
rmJ mrr—ﬁ q? S AT [:f
(D X % o7 wep nfifemyy & €
Wha 8 31 S otz 3 (b
'}Iiﬂ i:‘1h{: ‘R - . ‘W%WWW% |
(A .- Red Corrjg . 43.
rH-J A high securit Or1n India 9 O |
'[ (_,; An areg affecty e ﬂ]]‘j' Capital ¢ 1
corridg axalite-Maojgf ; :
o F or f i anist |
Y ,J Tegion k Memnationa) trade * Inslirgency ----_'.:-
24 ol OWn for i i JV.Z-24
===~-..18 lourist attractions




et © e

A) ) and ? ;
(/ ,',uhecapnal of Nagaland - it o

(A) Ministry of Culture

(B) Ministry of Defence

(C) Ministry of Home Affairs

(D) Ministry of Youth Affairs and Sports

4, T AT Irdie e & ST&T SUARTHAT sl T |1 SATHeATST He sl T SHoT =h1 GTHAT T 92T 2 |
(A) TERm (B) Te=m= &t =t %ng] grgstifT

9] involves online harassment where the Eh]:l’ 1s subjected to a plethora of online messages and

emails.

" e e (v A end) e e ()

‘:}1 T e (HeIROfieT) 1 e B
| < 3 T o S it o) o s ket s

() ;
i ‘“_[*4 STl O ST T o
mL Iﬁh TR AT []
din 2o . [
(A) Eval 4 of the Human Development Index (ﬁDI) isto:

te :
{BJ. Asses EnVironmental sustainability

£ . . S
o n:]’“?“ well-being and quality of life of individuals
~~~~~ : aslrg YEical advancements

":}:“ .,‘gaﬁak, (B) Itanagar

" 7

) :onﬁmmmaﬁﬁﬁﬁmﬁﬁm%ﬁr@é) e

Rt iy oN 2021 ?
mﬁEh country hosted the COP26 Climate Confere- ein : h-nistan
(A) Canada (B) India S&(C} Afgha '
WW-H-WW’%HWW@n&WW%?
(A) A T oS
(B) OWW []c
(C) TEHAH =
(D) AT A S G HAT ®

(A) Phishing (B) Identity theft ﬁ(ﬁ) Cyberstalking
s aﬁmﬂ%ﬁmﬁwﬁtﬁ%mﬁ%%@mmﬁ@%ﬁéﬁﬂﬁwﬁﬂmﬁa%mwm?

(D) FHifedT

(D) Kohima

(D) UK

The quarterly newspaper “Cyber Pravah” is an initiative launched by which Ministry ?

(D) siteded

(D) Botnets

(A) YT gnt @IB) 7= 3EnE

(C) e FaHE (D).mﬁm%mafkﬁfﬁa‘?gt@a

Who was awarded the Nobel Peace Prize in 2021 for the efforis (o protect freedom of expression ?
(A) Greta Thunberg (B) Abiy Ahmed

(C) Malala Yousafzai C)[D] Maria Ressa and Dmitry Muratoy

-
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10.

12.

13

TegEEE AT gmrwE R

(A) wauu (B) Tt
(C) editeit 3raar (Rrehiaom) AD) e a'q?mﬂ
The yellowness of the Taj Mahal is an effect of "

(A) Pollution _fj—B‘_‘____'
(C) Ozone depletion \,Q( ) Allergens
F—---’(D) Acid rain

e Ygifera geam #el fRug & 9
(A) e (B) amd F%‘C}'é**?

Where is the Indian Institute of Petroleum located (D) feweft

Sl ek (B)  Amethi ) Chenma (D) Delhi
ﬁﬁﬁmq‘%mwﬁﬁmaﬂrﬁmﬁ%fiﬂ%w ; s

T wree & wfonfya e s 2 S 6T 1 e 773 3 forw Ao e 1
(A) Arardt stiEeH

(B) =i BT g

What term describes the global movement for gender equality, women’s empowerment and the elimination

of discrimination and violence against women ? ()

(7 Femmist Moverent E;EI{B) Black Lives Matter Movement

(€)  LGBTQ + Rights Movement [T¥D) MeToo Movement

Se TR 3T e ¥ srEs Fe & 0 ol

(A) aThafd Oy Ty sy

Who is the author of the famous Indian novel ‘Goan’ ? .

(A) Arundhati Roy (B) Munshi Premchand

(C) RK. Narayan (D) Rabindranath Tagore
2016 = fermsiiamtor & S v % fare it 17 9 2 o o
(A) i e (B) +377 Sreeh o)

. e ; . N monetization ?
Who was the Finance Minister of India during 20%&3?;?‘ Narendra MO di

(A) Amit Shah (B) Arun Jaitley o™
SITE o1 Haeia 778 9 u

: od

(A) HEETEE Grzaerer Sefifersi e o7
(B) HH $@me defifemm meafoie.
(C)+ Hez Hezemyre Seffm TAfCE
(D) #2eTEz Sigmrer Sefiferw vARAE ©
What does SITE stand for ? b e
(A) Satellite Instructional Television Educall®
(B) Source Instructional Television E’,‘pET[!:ﬂcm
(C) Satellite Institutional 'Fclﬁ\’ifilf)l‘ L'f‘pt,r-limcn' reft @ ECH
(D) Satellite Instructional Television EXP¢! i) ":JIH': e
; - F 'F[q‘(h 'F ﬁw@‘ .EHI‘]“: "l-.] %;Ii_’{.',l I
“q E - nirates

(A) TISE (B) 'dﬂﬂﬁﬁ ited Arab! I-]:J pujairah e
Wwhat is the capital of the Federat!on of Unl (C) %o y

(A) Sharjah (B) AbuDhabl oo _

(D) Nirmala Sitharaman

jent




44, U TS AT ST R e % fore e el T 3 fou e g TR E
7 ﬁﬁ%ﬂfb’ﬁil
3T TSI S5 T (ACLS) H FHIH |

b
e Wwﬂqﬁwlﬂﬂiﬂﬂﬁl O
4. ST s H 60% 37 | @) :
o ufe swlean & ™ ACLS U TE €, ﬁ[}lqam%wwggﬁlﬁmméi
g ﬁﬁmﬁﬁaﬂﬂﬁsﬂmm El?fﬂgl'q?l'ﬂT% Eﬁwﬁ?ﬁ%ﬁaﬂ*ﬁwm
1

tigza % STER T, fﬁmﬁﬁ%mwmﬁaﬁmﬁ"raﬁ

B.Sc. AR, ACLS I, mﬁm%mmlﬁiﬁ%qﬁmﬁﬁﬁqﬁﬁsaﬁmﬂﬁ
A mﬂwﬁmw%

- mﬁﬁmﬁeﬁaﬁm%mqﬁﬁﬁw%maﬁﬁmw%

(©) Erofer 2t 3 feru Za1 A

(D) ﬂmmwﬁw%mmm% o
Intensive Care Uriit) The criteria for selection are as follows :

A hospital is recruiting nurses for 1ts

Bachelor’s degree in Nursing.
Certification in Advanced Cardiac Life Support (EEQTLS)

Minimum of 2 years of experience in Critical Care-Nursing.

Score of 60% marks in a competency-based in w.
If the candidate does not have ACLS certification-he casc is to be referred to the senior specis

If the candidate does not score minimum marks inthe interview, the case is to be referred to Headd

p Nursing Department. &~
* g If the candidate satisfies all other qualifications @zept work experience, the case is to be referred it

. the Director of the Centre.
Based on the scenario, what course of action should be taken for Priya Singh ?
B.Sc. Nursing, ACLS certified, Scored 63% marks in the interview. Experience of 8 years including*
years in Intensive Care Units.
(A) Candidate is not to be selected
(B) Case is to be referred to the Head of Nursing Del’a’f;ﬁment for further review
(C) Data is inadequate to make a decision @®
(D) Candidate is to be selected for the nursi ition
IS
Ing positiore?

45.  Frerfefiaa & @ wedt % F-8 91 o ey oafr T § 0

rm 5 P-.ﬁ":

A T _ 3 (B) T —wwet (G St — 3 D) gy
:’vﬁhwh of the following pairs of words are most simil meanmg 2 s
A) Hot - Cold

o (B) Hard—Easy (& Quick - Fast (D) Happy -S4

46, fz Fr¢ famm =ik §
W%%ﬁmsmaﬁa:m%ww
oy ot
ngma&w BRI e SRS AT

: (B) 9aTE 6= -

If a plane | (C) 9otz s =t (D) T3 s

time \: :I:Idc?l:: 1::?]:1?; klfi:T London at 3:00 p.m. (local time) and the flight duration. is of 7 b
“}‘] o & EI;dtr)nn 18 5 hours ahead of New York ?
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&7  sigge i SR NGIEE LG s |

Find the niu {may

\"ﬂ |
3
3 G g " O | -}*‘ 2
: = 2 ot =Tt
e, 1 54 PR
58, U 10§ MU S et 60 e i ?Tﬁ% : #1175 it ﬁfaﬂﬁ
e ey B e T &, T o e , {:;jﬁﬂmaﬁm ]
(A) 3 fre, 40 BTE < (B) > firz, 48 §HUS
(€) 3 fire, 48 VT (D) zﬁﬁz.fdﬂ'ﬁﬁqan
A train 105 metres long travels at 60 km/hr. How long does 1t take to CTOSS

running at 54 km/hr in the same direction 7 ; 4 s
(A) 3 minutes, 40 seconds (B) 2 minutes, 4o SECONE

(Cy 3 minutes, 48 seconds (D) 2 minutes, 44 seconds

ﬁﬁwmﬁqﬁéﬁmmaaﬁ%mﬁ%|mwwqummﬁﬁé@m%ﬁ?a“ﬁﬁ
ST e & i & e 48 Seeve i ok & | @y et 230 f /8vE 2, 9t a8 i 36 & T

I (Efiaa T § e ? = :

Two guns are fired from the same place at @imerval of 9 minutes. A person approaching the place
observes that § minutes 48 seconds have elapsed/between the hearing of the sound of the two guns. If the
velocity of the sound is 330 m/s, at what 5pccd3ﬁls the person approaching that place (in km/hr) ?

(A) 36 (B) 27 [] @ 33 (D)e-29

_@ g Tifs 8, 60% TRER] % 976 Th T 2, 30% TTERT ¥ e T HE 2 $ 15% TREn § 3 Wi o 98 U Ty
ﬁﬁ@mﬁlwﬁqgﬂqa(:qﬁaﬂrﬁﬁltﬁﬁmqﬁaﬁ#wmm%qﬁ%? :
In a village. 60% of families have a cow, 30% of families have a buffalo and each of the 15% ili
2 s e of
has both a cow and a buffalo. In all, there are 960 families in the village. How many families dao h ia;:uhes
cow or a buffalo ? ) Ot have g

S (%), (C) 260 (D) 200

61. UF SrETE Ui Al 29 ¥ feru € 6.4 0 I AT 2 | 8 R e i e e @ iR fsmr
o e 2, o 37.5% T BT 8 | o STeh kT 3 &, w‘%rﬁﬁw@Hﬂﬁsﬁa
A dairyman pays ¥ 63 Per litre of milk. He therrgdds water in the miTk and selis the rr!lixture at Ty

thereby making a 37.5% profit, What is the {proportion of water to milk, in the milk rece ber litre
. Ve 4

g AN the series

(B)

other train 175 metres long,

©

r-L:]!anl‘n.fr:]'* 22 N d by the
; e (B) 1:10 N (C) 1320 (D) 1:15
62. ]35.!.'?I.Ivjﬂn?ﬂqaqmqaﬁm{|{{-|']maaﬁ%| :
Find the HCF of 135, 171, 192 al
(A) # : |
(B) 10 (C) 9
= (D) 3 2
. TEEFE e w A B - - - ;
9 - e 3 Hifs v 310, 550 i 728 & WJHWWHWWHHH{; —!]c'l')}
 the greates number which when dNTIETEPo10. 550, ol
(A2 :Hm_ I'_,.,.;L“ divitled by 310, .‘Iﬁhli. .F:lld 728 leaves the same remainder ———
) 222 (C): 22 D : 1 i
64. (D) 212

I 335 ey #et = bl 5
" 335 He el v | g e # v i o o st & | A eme -
(A) 67 iz g : : : feret i 3

—
< (B) 80 fadie - Bl i : | Q) L ) ]
A 335 metres |erIJ_3 Iraimn L'I'ua}w\ iy (&) T Hﬂﬂ . (D] llﬁﬁ\ﬁﬂiar ‘ \Q
S

(A) 67 km/hy a pillar in 18 seconds Find the speed of train in km/hes

e (B) 80 kmy/ AT, I o
WV Z-24 g ) EOknghn v Gy TR (D) 110 kmv/hr S
Page11of24 | - s
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|
Hﬁaﬁlﬁmtﬂ?{%r e A 14 T g,

5 ey Al afgermd 10 . dan &
T 10 1 ia;” o l.{){} izt &Y -
E (l* fed B) 420 c) 29 fa (D) 15 feA
® g omen can I[1.1 ) | N days. How many days will 14 men and 20 Womey
g\l&ﬁ 10 w build 1 of 100 metres in 10 _
i1

ke to build a wall of 600 metres ? ) 25 days (D) 15 days
:fnt 30 days (B) 20 days ( )M‘ETH aaa &, 1 64 ferat B 9 faay
af2 120 saftn S 6 ¥ e A T T b lﬁﬁﬁ#mﬁ? i
e e R e e e e 15 et 3 st g T o D) 152

) 1{1€[§, (B) |78 : © king 6 houré-a?day, then the number of hours per
llﬁ?l"(‘n persons can finish a work within 16 days bb‘.“l;"‘fﬂ‘ﬁug-n 15 days is :
that 6 k to finish that same J'(:’C] 12 hours 1 (D) 15 hours

day that 64 persons should wor !
2 afe sﬁaa Foretoms % fer 960 7 1 7

(A) 16 hours (B) 17 hours e
67. @%@ﬂﬂ@wmmqgumﬁﬁﬂ; )
S (ST2) ST ST © | A1 IR A A GALE his cost price but U[Seri,i a false weight of 960 gm for each
A dishonest shopkeeper professes to sell goods at | |

60.

kilogram. What is his gain percent ? : i) i P,
" et i'_JI - el 1
&) 63% (B) 4=% 1 SR S g -
oy St ) s % 15/t 31T 20/ o1 S et &1 ST St ST Bl R STIgTa # =ifee
1% 7 16,50/FeT 1 e et aredt 6 fraor S {36 L2 Shily
In what Tatio must the grocéF mix two types of pulses costing T 15/kg and ¥ 20/kg respectively so & q
a mixture of pulses costing  16.50/kg ? : H,
(A) 7:5 (B) 5:7 (C)773 (D) 3:7 1 \
U G T S HTHE L 150% T 3R T & 37 40% o T2 241 & | A A ST T 1,600 2, T
7 FT 8 ? | AR Gl B N

A retailer mﬂé_ks up his goods by 150% and offers a 40% discount. What will be the selling price if the ¢
price 1s ¥ 1,600 7 1 N

(A) %2.900_/* (B) ¥2,500 (C) T3, 000 . (D), T2,400
qmaﬁwﬂsonﬁa%rqt@arﬁﬁﬁm%#ﬂrﬁﬁ?ﬁ%lsﬁfg aﬁuﬁmaﬁ
/ /] O

20% T AT Fq71 7

By selling an article for 480, a
a profit of 20% ? : \

(A) T640_ = Y
it . m%?ﬁ&(}aﬂq (C) T600 b' (D) To664
T FTHIT ﬁ; :‘"“"'?5800 e bl 2 8,500 % 3 7 iRt w1 it wrfere Ao T 10,0002 RIS

The average mon Ay of the \wﬁlq e T .
7 workers is % 10,000 and aye Workers in 2 works op is % 8,500, If the average monthly salary

p—

e ra :
r:f;f kszhfp IS £ montuly salary of the rest is % 7,800, the total number of workers in I,
(B) 20 7 ;
If the average of 6 cﬁ“‘sexﬁve 4 183 &, ?Prm%gﬁa ;‘;ﬂmaﬁrﬁm’ (D) 18 ’ QS[‘?}
/ : ven n - o -— .
= ;;J 194 B) 176 umbers ig 183, ﬁn_cl the smallest number. .j"/
a5 ‘ﬁ@*?sﬁﬁmﬁm%ﬁ@a} (C) 181 (DL 78

mmw%mmmmfgﬁ%&ﬁﬁhaﬁmﬁ}mmﬂﬁwm&mﬁ

0to be Paid bagk

WO equa| :
n,m'l 1,203 el yesly nstalmenyg.
"{‘24 “-h------_-‘.-____(]_a_l_ tl:J??

oy
‘‘‘‘‘
-
______

. r d
With compound interest aﬁﬁne rate of 4% per annum by the €7
How much will each instalment be ?
(C) 1,275 (D X1.352 ¢

-

o

FOfo—g2— 103

. .




CoBRA #dty fiwd férg

T F} v £ 3 -P”M?Rﬂ W
m,,mammh%ﬁ 1 s gy T g &

; ﬁ"if‘{:m;[ (B-:I-E‘T':IT?.W'\1 qﬁ.{tﬁgw 4 for ?
(C)  Hgw Farfor=n w7 Yamm e (D) Hger at does it Sta7 e Action
CoBRA is a special Operation un\il of the Central Reserve Police chsbanaﬁoﬂﬂ for Reso -
\A) Commando Battle for Recoiling Action (B) Commando lions for Rapid Act!
3 \ (C)  Central Battalions for Radical Action (D) Central Battd
@) I SRR ﬁaﬂ%ﬁﬁrﬂ@ﬁwm% ? ) 24343@(
(A) 8 feravary (B) 12t (€) 20

On which date is International Lier
(A) 8™ September (B) 12th

37, e e F s o

acy Day obgerved ?

th October
D) 24
January LJ (C) 20™ March (

=

D) @UEl

(A) s (B) *soTE | (C) sfEaTH 5

Who is the author of the famous work “Tantralols™ ? _ din

(A)  Bhavabhuti (B) Banabhatta (C) Abhinavagupta (D) Dan

S U0, WA Her Fammee  STow, S5 5 o i Faf # g R S
i ®

(A) TR FIAURT (B) CIFFAMRT  (C) FOBHIMERT (D) FOR 3 TER T
As per the IMF Balance of Payments Manual, the import and export of goods should be presented on

(A) Ex Works basis {B) CIF basis (C) FOB basis

(D) FOR basis
39, fefafEa § ¥ o @=tre) 79 fifew |

ot fllowing. | ¢4
Find the odd one out from the following. g 410
(A) TVXZ (B) ACEG (2 (C) MNOL (D) HILN & [
i B ST Hifr | & el 25
40. g@mﬂmﬁmw T | (] 3 45
Find the next number in the series. n@ s %
144, 169, 196, 225 7 D i .
af 284 (B) 298 & (© 266 O LA
- - = ¥ '\'_ 3 : ’
o et — i, Fha S Fred , 120 9 | T S et e i f R .
Jr e & | T e et H U e 1 et B A s | o e ﬁmﬁﬁﬁ?léa{ﬁmﬁ |
;nathrce containers — yellow, white and black, 120 marbles are placed. There are g &Eﬂ
the white and yellow containers combined as there are in the black container, Algq thl:ran v Marp|eg - b
many marbles in the black container as there are in the yellow container. i i » there e in 4
the white container ? Marbjeg i th;z as ZS ¢
(A) 60 (B) 30 1 (C) 40 ©) 20 b
o B O et DR 1y
Among five friends, A is heavier tl}an B, C is Jighter than D, B is lighter than D b W
not the heaviest. Who among them is the hcaviﬁj'; ut heavi er lhan -
(A) E (B) B o ©) C © 2t 'Dis
) s;ﬁiﬁﬁﬂéqaﬁﬁﬁh?mmqﬁm ] 5 |
(A) WHd (B) @l L.:? (C) Fretsy i
Pick the Uﬁwurd out from the given list of W“Téj' (D} G@
. hld—liil-— ““_ _I_)!l_ﬂ!c_a = (C) Colombo

T PR v e (D) Kabul
jvlz,;m Page 7 of 24
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47,
21
1 ‘_-TSU; T 48.
lows .

ior specid®
erred to HeY

m;:ul‘{\ﬂtﬂm

gl - (D) FRFA
e : feran o T - : () Zia @Al
(A) A (B) fora A0
([,‘mw:;{;l:lﬁ ::I:J;;qu sl (D) Paint
en § i ") Stite ‘
ut (B) Mix (©) A ﬁﬁwﬂ[ Sl
(A) C 3 s fir 30 @S % O TP
U viF h IE ATYT 3 FATRT s o 6 1T S FRT ST e |
%tm%@ﬁmﬁwmwﬁm%?ﬁ-_——_f—m (D) TF
(A) s (BY ZnSRdlis € hat is formed on one side of that plane
A cone is cut through a plane parallel to its base a0 thcjl [!‘.c COTE 11 ?s called ——
is moved. The new part that is left over on the other S_lgelot herie (D) Ee
(A) Cylinder {(B) Frustum of a cone {;5{;'_’ Sphere
+E AR HIRE ]
il 3:[‘&% ‘Eﬁﬁ:‘f%’ o8
x o7 374 B 7 frar @ m
frfafaa d & e s g fF C, M TSI 2 2 -0
+ means ‘is the brother of” :E"‘?

— means ‘is the sister of”
= means ‘is the father of

Which of the following means that C is the son of M ?
(A) MxN-C+F (B) F-C+NxM {(;]']N+M—Fxc (D) M—-N=XC+F

wa YT S % e 1 30 e <Tea 2, fit st ot F v vt 2 si st &
HR1S W& F01 4 Yget 20 Fie A flaws snar 2| 7t % YT i

: TEHE 8:00 T I TS I FAT R Ay qaeht
to be referm®" STHIA H 120 H1 ST e 918 oo e e e 2 :1 W o S EL
(A) 98T (B) 9T 7 &t (G I 6 51 (D) I 5 &t
A mountaineer ascends 30 feet at the start of each hofir Ithen p:
g el _ ; auses o res i
cars 1nolnd™ beginning his climb again at the start of the next hmlr‘iﬁ' he :;lzn.,; h:- Ol?e%; and slides back 20 feet before
y he first reach a flag positioned 120 feet above the grou'r"?éj‘ 2 el IS climb at 8:00 a.m e what time will
(A) 8pm. (B) 7pm. (C‘E} bp o -,
" i e (D) 5p.m.
51. 3 S T = I S R e SR A
Choose the box that is simi bl o o S T
. atis similar to the box formed fr > :
/\‘ = om the figure of the sheet of paper given
B '
+ ) (5
g 3 < |
|_'1"'IP'|'P.‘II ¥ Sglaﬁj‘; i}d
’ (A) =
(B) [\.{"ﬂ v =
3 L i bt 11 @ {( F'
:Eﬁﬁ L jvZ-24 (D) n
s e R TR
on s © Page9ofad =TTt tmmmmeeol Prr e e
3 8. -7 &




52.

Y
(A)
..__/ @ (B)

-“-"-Z~24 ---------------------

'y

s 377 1 TG T § YT ¥, F@lF 0 mﬁﬁaremilw%pmmwﬂz _

3 |t 3 PR 3T S s w7 iy
(A) 3 3 30 4 e 5 91T ¥ 2 3

(C) 43 3K 3 IR (D) 5 3 1 s

The cost of a mango is ¥ § each, while a guava costs T 6 each. A Woman spends a tota] of 7
fruits. How many mangoes and guavas did she buy ?
(A) 3 mangoes and 4 guavas

(C) 4 mangoes and 3 guavas

rrd ampfer i fre B 19

How many triangles are there in the given ﬁgure®

=
0 .
b

B) 5 mangoes and 2 guavag
(D) 5 mangoes and | guava

@,

2

]

pe

]

3%
&) 26 B) 29 ® o (D) 28
st § faeq (3918) 919 FIY |

Find the odd one out in the series.
ES5, 19, M13, P17, U21

| NE (B) P17 O u21 (D) E5
5t o ATt i g mﬁmﬁﬂmﬁﬁqo

Find the next figure in the series from the given ¢ptions.

NSNS

(D)

X

hhhhh
______________________________
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76.

;

m%ﬁﬁm. :
2ﬂﬁmﬁaﬁ$3%ﬂflﬂ.m%ﬁﬂaﬂﬁﬁwaﬁﬁ;%m in.2
FinMpmmdmomtmdm*ﬁ?ndmeﬁtforflﬂ.ﬂmﬂﬁ%“‘:‘;t (D) *10,609,08
(A) 10309.T309 (B) ¥10,509,£509  (C) T10.409,

3 sl i ST TSI 10 : 6 & i 379 2599 1 300 18 : 102 | afe 3 W 5,200 RT3, |
& AR amang ' g
The ratio of income of two persons is 10 : 6 and that of their expenditures is 18 : 10. If they

and ¥ 3,600 respectively, their incomes are : : L
(A) 79000, 35400 (B) T6,000; T3,600 (C) ¥10000; T6,000 (D) ¥16,000; T9.600

- '.'.:' i o ‘f ||._
129 TeTOT =TS 3 161 2272 10,920 % O O P A R A @Y i
What annual instalment will discharge a debt o@ 10,920 due in 3 years at 12% simple inte

(A) %3,250— (B), T2,75088 0 38 (© 3,000 (D) fZ,SOﬂw

RS +TIAARS, TH MY S TH RS, TR IR S % TH IS, T F wrar B
W%S,Tw%%ﬁrﬁnﬂ%ﬁgﬁﬁ%ﬂqmm%%J,K‘q?rgm%?
If S + T means S is the father of T; S -—Tmea:ﬂ is the sister of T; S % T means S is the moth_
S x T means § is the brother of T, which of the3@llowing shows that J is the paternal aunt of K 2
(A) KxM+L%J (B) J-L+MxK ® (C) K%M-L-J (D) K+M-L %1

78. W 1 I Aiferg | F
S : 1T < T - 2 : S
(A) e B) e (C)_Fren (D) TR -
Find the missing word. -
Apple : Red :: Coal : 7
(A) Blue (B) Yellow QO (© Black (D)
79. .ﬁqwm%wmaﬂ?ﬁmmm| Q
T gd 2 . “'ﬁ
(A) Tgar: T LJ (B) fimar: #ag
(C) Zaa: & o (D) smEw
Find the correct alternative on the basis of the Eﬂ relationship,
Fall : Pain :: ?
(A) LE}ugh:Cry ® ® Fall : Step
(C) Disobedience : Punishment (D) Food : Happy
80. ) wiefirm v e iferg |
‘ S, T, Ufvr, w, o
(A) wmEr ; :
Find out the related wordm)'w iy i
‘ Rﬂﬂt,'I'nmk,Le&ves, Fruits, 7 O .'
| (A-) Branch | (B) Vegetables () (C) Trees (D) Plants
81.  FT sz iy y a8 _
' (A)‘mqsfaq;:' 2 T g . ' o
Find the related worg. i 0] S (D) Few
- ?gp:}?mﬁm::-mmw:"? BE 3
FET R ®) Poosdes @ () Conol (D) Ins
e Pagcideize L T










e

3301— ‘ : . =
38E-2001 SH-2001 37RG-2001 FFER-2001 feEaR-2001 BE-2002
Apr-2001 Jun-2001 Aug-2001 Oct-2001  Dec-2001  Feb-2002
ST 2001 3R PRz 2001 Fi SAfrF wheai 4 BT § T 31 31 i 1
What 15 the percentage of the marks obtained by the student in the periodical exams o
October 2001 combined ? -
(A) 78.5% (B) 75.5% Egac) 7% (D) 73
T1feTeh T LA I ST R F7 709 1 HIC | L_ﬁ
T | amae | sifrwe | gz | || e | amwefie,
1 12600 +20% 10%6% W R
2 12850 +25% 15% = % S
3 12570 -30% | 12% Y sk 8
4 12200 - 10% 20% z
qlue’ o
vyl (A) 20% (B) 18% fg{:] 8% (D) 10
wﬁ and find the value for R. L
Atticles | Cout | - Sk
@65 | Cost | Marked | Discount ] Selling | ProfiLoss%
“—"——1-——-—-331_':_8__, Price [ Price
—— | 13600, | +20% 0% 2 W R
2 12850 : .h]
| 2650 | +25% 15%  wo X S
: 12570 - 30% 0, I: \
! 4 "—l—z—gm?__ L 12% (; 3)' ¥ T %
—_ 5] -
] ‘(-{L) 20% “‘n-——-______E?’“__ 20% s g
L R e LB 1% ©) 8% (D) 10
\/ B Page iS0f24 N

s e 8, 0 2 e v, st i € mmj‘:ﬁ-ﬁﬂﬂ;ﬂ _
'm,mmﬂmwgmmﬁﬁﬂmﬁmgm :

3 @ g W T 3! 1 3TiaT § | _ 3
;TMML peﬁleﬁl examinations are held every two months. Dm*mg. $B
April 2001 to March 2002, a Class IX student appeared in each of_these L
below shows the total marks obtained by the student in each periodical exam. -
R STafe Tl i SN Fe 3 = 500
Maximum Total Marks in each periodical exam = 500

o ———

-“-,410_' -------------- o 1 Sl 00T e 205
m. ., .
3901
380 -
3704
360 +
350
340 -

3/ Marks




: e

e &l £ HsT & = Hl: 5

NN M : L arff AT FIA ST E
=17 |

. la £ o outward. |
i il { (), are sitting around a squar table facing
1 s :
.M, Na

immedi
o 1o the 1
A N s sl

Y 31

\ D)y 1
) N {
(B M '

T
3

g (D), ATfaA
(B) % (C) wsi (D)

A\ relafed O D?

Pyl 1 &, a8 7y g1 shifere =) ﬁ:anﬁ}mﬁl
g - 2wy g —

\) THEEH F9 - @il ) (B) TESTaW e e
(C) =T FT . HH \ (D) FFT: HHR
i the given options, find the pair which is similar to the given pair.
ven pair - Davis Cup : Tennis | iz ()
A)  Federation Cup : Kho-Kho (B) Ryder Cup : Golf P L

A\

tames Cup : Car Racing (D) Cue Cup : Snooker
140. FE9H 9% 719 s |
the dissimilar term,

\. BFB, CIC, DLD, EQE
= \) EOI (B) @ic | (C) DLD

L4 T2 POR . 43T OR ot sy o i %4 3 s v & 7
14 T _,1-;'-;_;'* 2 | mftfy 35 m% | h‘i‘? PQR #I U’Tﬂm LRIED] Fﬁﬂé FF_TI 2 ?
(A} 149 (B) 11 Gt S (C) QiEF\TﬂDT

ngth of the side QR is le

exceeds If‘.L‘

(D)_BFB

In triangle PQR, e
side PR

sid

(D) 10 @t

ss thar twice the Je
length of the side PQ by 14 ¢m.
€ of the triangle POR s :

(Al I4cm (B) 11¢m
142. UF ffova ymr f o0

In a certay

The perimeter is 55 em. The

(C) 12em (D) 10 em
R¥FT3118 % %73 gy
guage, CAR is written aq

(B) 65900

1 lan

(A) 62118 3118. How will FUR be written in the
("--

. i (C) 99]1¢ (D) 37912
26 303 2nng -2 ol s 2
&3, JJ:; ; #A 1. 2023 3 THT 471 7y O ﬁ?ﬁ. 2024 i"fl'ﬂﬂ]?‘. T Fi-TT fegaro
(A) HHaER : - i '
; (B) . £
What was the day of the week on gth oy (C) TFaR (D) ¥ !

: b S
(A) Mondax s April, 3”21 H‘|ﬁ”' April, 2023 was Thursday ?

o . " ) Tuu,u;;ju} o (C) Friday (D) Saturday
SHAT {1 71 Fifam | . i

; }_H-.ll’g&in- dissimila number.

2.6, 24, 120, 540,
(A) 6

(B 5

bi‘” (C) 24 (D) 540

Page 20 07 34 o R

o
-{-?"‘.11 3 g

ngth of the side PQ by 3 em. |

STH-2 | 38 91 3§ FUR ¥4 ferarsmum > 3|

same language ?

o it 31w oy F0E A3 F 1 L, M & 3T T 3y

15 Slthing ¢+,

ale rmenl o (] g o the 1im edrate |.,
1 f l[} vl-'l S St [I 1at ¥
-

2 3 HIABID CHRfmasmE CHRHATRIA Dy
o ghE o, \ Hﬁ‘qﬁ:{ (] L., B i

. . ; f s father : 118 C's mother 1y
i five members, A is B's sister and E4s B’s mother. D is C’s father and E 1 [
{armily of hive o

: = fee randdaughie
\) Daughter (B} Daughter-in-law | | (C) Niece (D) Grandc

1 TS 9T PO Fy i @

.ength of the

length of the smallest

&

—
P o

_—

\=e g

k/f

—

\ o
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145, amf;mmmgqéwwvammmWﬂW%
TE Wﬂwmmmwﬁﬁm‘

uftam &1 =4d )
wfirer fife oo 6.2

12%

y
'.l b i i '
. ol W ® i, I
c ' 9 I u—fy’)
=\ | 23
\V ‘. . 18% C1 ﬁ’
{ 23% i ~ s :

7 5 ;,—Js:l";@f*
¢ o * ‘
: /Wﬁm%%ﬁmﬁﬁﬁnw%ﬂvmmaﬁaﬁﬁ#m e St ot ST ST T -
_ (A) T27.860 (B) T26,580 J{C‘j 24,650 (D) ¥25.075

presents the domestig:‘@xpenditure of a family in percent. Study the chart and

The pie chart given here re
f the family is T 42,500,

answer the following question if the total monthl§income o

Expenditure of Family

Provident Fund

EE:
12% A
yf the “
les Food II_I ]
= " |
Medical 25% !E.;{'j
13% ™
| V=
K-
: o™
Child =\ House Rent ®) o
Education | & 18% i E
23% E L
=
b

After deduction for Child Education and deduction for House Rent,

remains |
(A) % 27,860 (B) %26.580

W.Z i N F - TR pa,__.;'ifq}fzd
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128.

130.

134.

136.

IVZ24

T &L TF
L s S WWW

(A) e SR IS Al 7 UEe o (B) :_s-gmsﬂﬁﬂqﬁ

(C) ¢ T TR 1 AT A U oo

e
Tt w STl Fed § oiEe s A S e

(A) WEqel I TER {B}*W@Eﬁﬂﬁﬁ

(C) e 1 ATHTF G (D) el b dfe

. U sredft i e = @1 2 9fe 9w &yt o s A T 8, HIT 60% 45 fore & ofl 19 gl 55 e

. IR o 8§ Sty oy g o8 HZ 1 IS <71 v R e @ e st

Forfrer e 3 avuet nferek wifvs i gt sret 3T 1 7

s = o A R 0

A) R Eo. (B) godl 5 ST

(C) , ETETEHI o ST pee 1) Trv—rﬂaﬂfm'ﬁ’m \
THRU O IR . . 1/
(A) T B) FEFN A (C) SETHEE (D) oI T 1’

e TaunE FEl W R R 0
(A) SEEIHSTAHT  (B) FIR TR AH T

tig) \{‘ '}?
u:'f}[,ﬂzﬁ%aw (D)7 d€ T ’E‘ £

o T AT €, ST e % e £ Fer ot jo A

Brusofdiafase (B) 49 fEdtafr e () 47fFfiafaser (D) 48 i wfe wer

What is the average speed of a man who travels between two cities, covering 60% of the distance in

45 minutes and the remaining distance in “5 ‘minutes, where the total distance between the cities is
80km ? i

(A)

50 kmph (B) 49 kmph “S (C) 47 kmph (D) 48 kmph

T =rgt 5 1 43 ST 3 a7 afam o S Som e &, Fueh1 e 61w wm 7.45 w5t oy afie a0

(A) I (B) aftqor (©) (DI
: A 18 33
A clock with the hour hand pointing West at 3 i ‘e its mi
! 3 p.m. will have its minute hand at 7 o L SRS
towards : i g i ;
(A) North-West (B} South (C) East

(D) North-East
forerar-sieran 2 |

oS
femmn e : 49,25, )

Find the set of mumbers amon gst

the four :}ptinnsjﬂm 1s most like the set gi i i
. 5_that 1s Set given in the
Set given ; (49, 25, 9) e

(A) (64,27, g ~

(B) (39,26,13) |
A3 E!a-‘mf:rm;.ﬂ,,,u 0, 13) {(}[ :E) ILE 43 (D) (36, 25, 15}
- )

e, ‘Wﬂ‘iﬁ‘waﬁwﬁ uitr%?l”

Aﬁwmﬁmﬁ A#Fﬂ?mw

(B) wrg (C L TTAT

(D) e
ather of my father"@ﬂm dem
I

Hmllh_! -in-law

1
le is the husband of the granddaughter of the f
5B related to A7

_1___[['5] HthLT ()
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et A i s e o sk o 4 Pt gt o rw o e o,
AR AL |

91.

@ ? :
Fﬁﬁgﬁm (B) T (C) 3 -(Q.}:,lff |
(A) initially facing North-East and turn 45 degrees to your right, what direction are you f‘acmg "
" you arc E
”\_: : 1:}“"1 (B) West (C) North (D) East
(4

g3, Frfaflad aj@arﬁ@mtram#%lgi |
Find the missing term in the following series.
0N 361,280,169, 49

"B @ s ®) ol O (© 125 @ 121
Ay T T T e R 3T FRREd T
/\ > siefEamda
10 25 (] |
20 /17 (15\_30 ] 40 0% it safis e 3 2 |
7\ 20 L] |
a 155 srofrsmdns |
formm s A g g ) |
(A) 10 (B) 17 (C) (D) 7 |
Examine the given diagram and respond to the following question. |
25 A —> Persons who drink tea

2{}/1?1?!5\

30]40

O U> Persons who drink coffee
2
Persons who drink juice

individuals drink all three ? ; ol |

(B) 17 (©) 15 (D) 7 1

. + org N

ﬁr?ﬁ’ff@?rwﬁ,mﬁqu%ww@wﬁmﬁ%mﬁﬁqmﬁmﬁ@r%wfﬂﬁ? |
W%wmqﬁmmwaﬁaﬁmﬁm

e e w12 - “GENTLEMAN®
In the following question

s You will find four other word
One of these words cann

} : i an WO
s provided as alternatives alongside a give?

: ot be formed using the letters of the given word. Identify that word. :
Given word : “GENTLEMAN® 11
(A) GENEBAL (B) ANGLE (C) GLEAM (D) MAGNET

s, ﬁ;ﬁm qﬁ"{l O 11)
Fill in the blank 32 |
?z’}migi—“" L L 114

(B) 20 o8 (C) 25 (D15 |
m t1s
(B) anferay 22 (©) amn (D) AT
T 3 ® 4 V7
e B) T © fay s |

|
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ot & -G g s TE 87

116. e B) FA (C) ¥4t (D) == I
7. mmﬁ:aﬁ?mﬁﬁuﬁaﬁqﬂmﬂww‘ TR ]
118. ‘3ﬂdﬁ§ﬂﬁﬂ%ﬂmﬁ‘ﬂmﬁﬂ?ﬁmmwgq
(A) T JE TG IR | (B) dTeih agd AR |
(C) 37T @HT ST @ @ | (D) S AH T 7T 2 |
119. -ﬁwmw%@ﬁ,mﬁmﬁ@mﬁﬁm|‘ﬁﬁ%ﬁ§ﬁﬁﬁraﬂ=r-m§aaﬁﬂﬁm-m
e # faam 78t 2 7 (-.é;
(A) faerdor (B) feraehtior ELT_" (C) S (D), ST
120. ‘Feieay 1 Sf-fase w8 2 o8 |
(A) FH+dm (B) dl + dvaw [ (C) =iT+7a (D) et + HAvan |
121. FFE T ARSI S R ? N |
(A) FATATTAY | @(B)cﬁgﬁmﬁ-%mil |
(C) =T foselt g 337 ) (D) 399 He @1 U o |

122. ‘S 1A FIHE AG B ;

(A) FET-IER HHAT (B) Sdl sl SHFER ST
B © T (D) IR T

T — GO ¥7e5-77H T Hel ferehed g - b

(A) (T8 —TigT (B) FeIeAT — HiTgT E}i (C) Hier =Tt (D) T —gae 1
4. S TG AR ke
(A) Ha] 377 T GEEAT ™ (B) T o WG I E A & i w gan

(C) o 371 BT B 70 302t 6 oft @1 o “2 (D) U AeH FerT a0 Faer g
125. A 9158 1 forfor PrerferRaa & & o v 2 ET

135§

b @

S (B) wT™ " (C) FmE (D) HrEFT
126. “fiar et & dram e & o

\B) Wi (B) 3 fiprear (C) , 323 W (D) Srar

) #fw (B) #feq ()(C) Faq (D) FeA 136.
9.9, 128 132 Wertvr gy : 'S |
\-1 . o 1:;
E%’?Tﬁ%%mw§mﬁ,ﬁmmiﬂg§aﬂtwm|Wﬁ%ﬁﬁg&#aﬂ?éﬂﬁ?
%mmmﬁiﬁmm*ﬁ%lmﬁ Wﬂﬁ-ﬁﬁ%mgﬁéﬁﬁﬂwﬁ l
T T s e -0 0 0 0t oo e T o et @ e 1 e T |
T wﬁﬂwmmwwgamgmﬁ _m%mmmmdwﬁgm@%%
T o FCHCT R ST 3 STl s e e v of o 3 g o V%3
w}f"jﬂﬁrﬁml .

Srif S e RS e St~ N TR Y M e e
Pagcl&ofii ______
—




{20 3¥ ) <
L F‘ ) %@3 Tt

T B

afer 42000 T 10% + 2400 T 35% = 4200 T x% %‘ ar x Wmm%l 5
petermine the value of x if 30% of 4200 + 35074 0*]‘24'{]{} = x% of 4200 find the value of x. $ =

(A) 50 (B) 40 (C) 4§ WS

146.

)

147, afa Tl FIUT SETE & IeqTEA *mﬁﬁqumﬂm%aﬁtﬁmﬁaﬁaﬁmwm%
v i

_ReRY

TS D ST $89TG & I 3 61T 213 107 77 2.9
(A) 724° (B) 68.4° \ j (C) 582°
Examine the given pie chart regarding production 'of steel b

(D)ee78.2°

g . Ty, y five states and answer the following question
A
Statef.B}
én e
1 State(@) 1 (’
State D qq_q"
Statel,E-:]
What is the central angle that corresponds to the ﬁ;-oduction of steel by State D ?
1 2:%} 72.4 (B) 684 .Ef’: (C) 582° (D) 78.2°
48. F1< MONKEY % OQPMGA 3k ZEBRA &t BGDTC % ¥4 # Fifeq faam mar 8, @ DEER i fd 77
ifed faam s o ol
: i,
IFMONKEY is coded as OQPMGA and ZEBR?A'FS BGDTC, then how will DEER be coded ?
(A) BGGT (B) OQGT @ '(C) GFFT (D) FGGT »

149. 8 5193 o0 @ 3 A e 30 Farntt g 7T | m}‘ﬁ“ﬁ?ﬁnﬁﬁn?aﬁzqumﬂrﬁmﬁmw
mao%ﬁwrmﬁqj#mgﬂﬁ%zﬂ'ﬁﬁ@w 1 8 a1 e @ fore fewm d e

(A) fFm (B) afemr © I

From my house, I walked 30 km to the North. Then I turned West and covéred 20 km and then ¢

10 km turning South, Finally turning to the East, I covered 20 km. In which direction am I standing
my house ?

(A) WL gy (B) South (C) East (D) North
- ¥ 2 12, 36, 80, =1 g1 ehife |
het e

v ered

{ron

Completéfthe series 2, 12, 36, 80, = )
U 2 SR (B) 140 (€) 130 e v
2% S e T |
E /J,—q'\ |
—_ A v, oy, uy |




